Homework 8

Section 3.2:

z* —52° + /z _ zt — 52 4 2/?

2. Quotient Rule: F(z) = o —

z?(4z® — 1522 + 1271/%) — (z* — 52° + z'/?)(2z) 42’ - 152% + $2%/% — 22° +102* — 2132
@7 - =

Fi(z) =

2z° — 5z* — 25/ s
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Simplifying first: F(z) = _:13__52_—{-\/_:_1:' =22 —5x+273? = F'(z) =2z —5— 2z75/2 (equivalent).
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For this problem, simplifying first seems to be the better method.

4. By the Product Rule, g(z) = Vz e* =z/%* = ¢(z) =z'/*(e") +¢° (1 '1/2) = 1272722 + 1).

10. J(v) = (0° - )b +v7%) S

J'(v) =@ - 20)(—4v7% - 2073) + (v +v72) (3v -2)

=42~ 200 48 42+ 32 — 2t 1300 — 22 =1 -ii v+ 6u

20, z = w*?(w +ce®) = w¥? + cw®?e? = = Sw?/? +c('u)3/2 -e¥ +e¥- 2wl/z) = $uw¥? + Lew'/%e” (2w + 3)
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2.gt)= 7 =57 — =3 1S = g(t) = 2473 - L/e

2. f(z) = = f(z)= 25/%e% 4 ¢ . %ws/z _ ( 5/2 +§ 3/2) [or %m3/ze”(2w+5)] =

f'(z) = (“_’s/z_‘_%.,,:3/2)(_3 € (5 /2 + 15:1:1/2) ( 5/2+5m3/2+%w1/2)e‘” [or %zl/zem(4:z:2+20:z:+15)]
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. At(1,e), 3y’ =0, and an equation of the tangent line isy ~e =0(z — 1), 0ory = e.
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50. (aj P(z) = F(z) G(z), s0 P'(2) = F(2) G'(2) +G(2) F(2)=3-2+2-0=}
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) Q) = F()/G(x), 50 Q'(7) = GNP
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